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Topic:- General Knowledge and Logical Knowledge

1) P.T Usha is associated with / w.dsur Eﬁ gﬁ E‘s‘ %
1. Football / pedid

2. Athletics /quéﬁ?ﬂr

3. Cricket / fhbe

4. Tennis / T

Correct Answer :-

« Athletics / TURIfCeRT

2) In which state was the Kohinoor first found? / {31 ¥1sq ¥ Ugdll a1” Eﬁ-ﬁ%'_ﬂ e um?
1. Andhra Pradesh / 3718 UG=T

2. Odisha / 3SR

3. Madhya Pradesh / & ey

4. Jharkhand / RIS

Correct Answer :-

¢ Andhra Pradesh / &Tﬂm

3) Who is the founder of the concept “Sarvodaya”? / «Tqiear” WW%W@?%"
1. Jayaprakash Narayan / STHYR IR ARTIUT

2. Mahatma Gandhi / HaTHT e
3. Vinoba Bhave / fa a1 419

(2)



“. NLULIVIUSIITOOWdALd / M2.911 HIKIXTYIKT

Correct Answer :-

¢ Mahatma Gandhi / HaTHI et

4) In tossing of two coins simultaneously, what is the probability of getting two tails? / T:ﬂ' Rl &1 Th

1Y IBTAA W, & GEHTT @) 314 BT iepr fbail 82

1
4

LR [y ()

123 | =

b | —

Correct Answer :-

L3

5) Maheshwar is a temple town and it is located on the banks of river - ./ TI%%R' Th Wﬁff Cal

MER & R T8 THA S TTRRERI
1. Narmada / THaI

2. Tapti / ATl

3. Betwa / Sidl

4, Chambal / &l

Correct Answer :-

« Narmada/ '_‘lﬁa

6) Which of the following cities is called ‘City of lakes’? / T e LIRS 'Eﬂﬁ DI TG bl
1T 82

1. Son/@q
) (3)



£, Ujjain / ©wIn

3. Bhopal / HOTd

4, Ratlam / 3ddTH

Correct Answer :-

« Bhopal / 4@

7) The water source for the Shree Singaji Thermal Power Project is from / &t RITTSIT yvie ureR

Rae T usTasiEEg. 98]
1. Indira Sagar Reservoir / SR VR SR
2. Tawa Dam / q9T §1¢

3. Madikheda Reservoir / ﬂ%@@'ﬂ IRy

4. Amba Dam / 3idT ST

Correct Answer :-

 Indira Sagar Reservoir / 2R AVR SR

8) Seven paint boxes are arranged in a row. The yellow box is to the left of the red box. The green box is
between the blue and pink box. The black box is on one of the extreme. The white box is to the left of the
black box. The blue box is to the right of the red box. Which box is to the right of the pink box? / T
B0 9991 ! U9 Ufe § saafRia fvar ar 8 | fiem o ara 9o & 918 8 1 37 9997, Hiar $iv
TaTel 998 P S A 31 HTar g7 SifeH BR W g1 Tlhe TR 1A IR & 91¢ 8 | - g1 ard
IR & QI B 1 D1 T 99T [T g & IR+ iR 22

1. White / TG
2. Red / Al
3. Black / Tdl

4, Green / @l

Correct Answer :-

« White / g¢

9) The largest Open University in India is ./ URd § g8 g8T od fayfaemeaa (GﬁTFI'
gfafridh gl

1. UP Rajarshi Tandon Open University / 3. I EE Had [EEICEIN

2. Indira Gandhi National Open University / § T e QTQTE[ Had [EEIEEIN
_ (4)



S. Ananra rraaesn upen UNIVETSITY / V11H H QX1 HYT 19919 IS4

4. Madhya Pradesh Bhoj Open University / 7% USRI YISl Gad fayfaemes

Correct Answer :-

« Indira Gandhi National Open University / § =T it ?Tgk[ Had fayfaeme

10) If the day-before-yesterday was Thursday, when will Sunday be? / gfg did g DA & Qﬁ feq
TR T, a1 IfJaR Fd ghm?

1. Day after tomorrow / ¢l & gyrd faa (tR@)
2. Tomorrow /
3. Today / 3l

4. Two days after today / 3{TS] & ql fa agrd

Correct Answer :-
¢ Tomorrow / ¢l

11) If KRISHNA is coded JOHRGMZ, then how is ESHWAR coded? / ¢ KRISHNA & JOHRGMZ I

DT a1 Srar 8, @ ESHWAR T $ SIS fvar s
1. DRIVZQ

2. DRGUZQ

3. DRGVZQ

4. DTGVZO

Correct Answer :-
« DRGVZQ

12) Tf PAPER is coded SCTGW, then how is MOTHER coded? / Gf¢ PAPER @) SCTGW A Sifad foar
STd1 8, 9 MOTHER 31 $A Sifed fohar s

1. ORVLGW
2. POQVIGT
3. POXKJV

4. POXJJT

Correct Answer :-

(5)



s FUAJJI

13) The Constitution of India originally comprised of ./ HRd & A § Hdd:

ITBEY |

1. 444 articles / 444 3[T¢
2. 448 articles / 448 TEG
3. 401 articles / 401 3TC
4. 395 articles / 395 3]G

Correct Answer :-

« 3095 articles / 395 3[J&a

14) The Constitution of India was amended for the first time in / HRGH dfaea= & 9 Todl JENeE
oo o fosam war ur?

1. 1955
2. 1951
3. 1954

4. 1958

Correct Answer :-

« 1951

15) If TWENTY is coded TWEYTN, then how is MAGAZINE coded? / tl'% TWENTY &I TWEYTN ¥

PIfSd far oITdr 8, @ MAGAZINE &) $ Sifsa far s
1. MAGENIZA
2. MAGAENIZ
3. MAGAZENI

4. AGAMZINE

Correct Answer :-

« MAGAENIZ
16) India’s first Electric Mass Mobility System was launched in city’s airport complex. / HIRd
P Ugdll safaed AN TTa=iedr Jomelt TMEX & FATSIMGT URTR | = Bt 715 A

(6)



1. cnennal/ 9a

2. Surat / J2d

3. Nagpur / AFTYR
4. Bangalore / STAR

Correct Answer :-

» Nagpur / FTYR

17) Who was appointed the Secretary of the Central Board of Secondary Education (CBSE) In May,

20172 / 9% 2017 § S0 Areafie Ruen 98 @idews) & 9ia $ = e e fear mr ur?
1. UK Sinha / g & Rrg1

2. Anil Goswami / 3{I+Te TTRaTHT

3. HS Brahma / U9 TH ST&T

4. Anurag Tripathy / 3T 078}

Correct Answer :-

 Anurag Tripathy / 3T urat

18) In a certain code language, lee levi pepe means all wear denim, pepe uno sf means wear only pants,
uno lee killer means all pants tear. Which is the word for /evi in that code language? / b WTH PIS HTUT
'el, lee levi pepe DT 3 f all wear denim, pepe uno sf dI 3l f wear only pants, uno lee killer BT 31 f an pants

tear EYAT 8 | T IS UTHT H Levi & ToTT 5 =1eg 1 sawmel fopam R @2
1. denim

2. all

3. pant

4. wear

Correct Answer :-

o denim

19) In a row of boys, Rajan is sixth from the left end and Vinay is tenth from the right end. If there are
eight boys between Rajan and Vinay, then, how many boys are there in the row? /ﬁ@,ﬁ 3| Udh tfed el,

3To 918 BR ¥ B84 ¢ iR fa=4 gt ®R & gudi §1 afe e ok g & 99 ome aed €, af
e & fpa aed &2
1. 24

(7)



YAVA
3.26

4. 25

Correct Answer :-

e 24

20) The states of India which are bounded by Arabian sea on the west are / U3 A 3R AR & A1y

YR & I AP F?

1. Tamil Nadu and Odisha / TIoeT g 3R Siife=m
2. Rajasthan and Kerala / XTSTRIT 3R A

3. Karnataka and Maharashtra / W Gﬁ?' IIE'RTg

4. Maharashtra and Punjab / IIE'RTQ Gﬁ? PNIC)

Correct Answer :-

¢ Karnataka and Maharashtra / W GﬁT ﬂ%’mg

21) Bada Mahadev and Chota Mahadev are temples located near / ST Hged 3R BT HgTeg Hiez
& U U &

1. Ujjain / IS
2. Bhojapur / ‘-nTrl'?
3. Narsinghgarh / g [}

4. Mandu / Iﬂ_g"

Correct Answer :-

« Narsinghgarh / R [}

22) Find the odd one out: / U fquH FTd HIfOTT:
1. Kid / §=dT

2. Puppy / O

3. Lamb / HHHAT

4. Dog / Pl

Correct Answer :-

(8)



e Dog/ P«

23) Kanha is well known for its / ﬁ'ﬂ s | Ak & ford W= wIrar % I
1. Museums / GATEcd
2. Cave art / W] bdl

3. National Park / XTSI I

4. Sculptures / Iﬂ?ﬂT

Correct Answer :-
« National Park / T 1T I

24) Who became the first Indian to win a gold medal in the International Fencing Tournament? /

AR BRI gide A 0l Uged Sia+ aTd Ugd HIRdTT $I a2
1. Sehajpreet Singh / TgoIUTd Rig

2. Karan Singh / U] ﬁl_ﬁ'
3. CA Bhavani Devi / ?ﬂ.Q YT <al
4. Siva Magesh / IBEEHE

Correct Answer :-

¢ CA Bhavani Devi/ ?ﬁ.q YT <al

25) Chitrakoot waterfall is formed on the river . | fage sravara
T R RT3

1. Ken / &+

2. Chambal / IS¢

3. Narmada / THal

4. Indrawati / S-SIdql

Correct Answer :-

e Indrawati/ salaél

26) Select the option that is true about the Statements and Conclusions given:
Statements:
No breads are butter

9)



NO DUns are predda
Conclusions:

I. All buns are butter

I1. Some bread are butter

| 39 TP BT T BT P 3T 1Y wo=Y ok frewef & ok & @& 2:
DY

B IS TREA T

B ST AS T2

e
I g 9 HeeT @
I $9 98 "aE g

1. both conclusions I and II follows / ﬁ'ﬁﬂfl 3%7 1I a#f ST W %

2. only conclusion II follows / &Had By 11 SR Hdl %

3. only conclusion I follows / had sy 1 S{TORU] HT H

4. neither conclusion I nor conclusion II follows /7 & f& 1 3R 71 g fAspt 11 ST IS

Correct Answer :-

¢ neither conclusion I nor conclusion II follows / - ﬁ ﬁ'lzb_ﬁfl 3’?[7 « 33[ ﬁmv_ﬁf 11 STFERU B %

27) Select the option that is true about the Statements and Conclusions given:
Statements:

Some marriages are associations

Some marriages are not engagements

Conclusions:

I. All engagements are associations

II. All associations are marriages

/ 39 faeu o1 99+ Fifere Sife fou T $y=T siiv frepul & IR A 981 8:
DY

Fo faag WTea §

%o faare sgay T8 8

e

L 9t ey e &

I1. 9} e faae &

1. both conclusions I and II follows / ﬁ'ﬁb_ﬂcl GﬁT II C:I"l\l SR B %
» (10)




4. 0nry conciusion 1 TOUOWS / 924Xl 1M Y 11 DI7IXKIX VY] XAl @
3. only conclusion I follows / Had fSHY I 3TERUI HRT §
4. neither conclusion I nor conclusion II follows / 7 & F&Gd 1 3R 71 &1 fAhe 11 S TRUI v &

Correct Answer :-

« neither conclusion I nor conclusion II follows / 7 & 5B 1 3R 71 &1 Fshdf 11 3FERUT vl &

28) Select the option that is true about the Statements and Conclusions given:
Statements:

Some detergents are soaps

All soaps are powders

Conclusions:

I. Some detergents are powders

I1. All soaps are detergents

| S TP BT T BT S 3T g wy= ok frewaf & ok & @& 2
Y

oo fesie Ay &

Tt IIg USSR ©

e
I 7O fSeoic ugse &
11. Wt Wi f¥esie §

1. both conclusions I and II follows / FspY 1 3R 11 G SR GG %

2. only conclusion II follows / $ad f5HY I STRVT BT §
3. only conclusion I follows / Had SR I 3IERUI Bl §
4, neither conclusion I nor conclusion II follows /= BT s 1 3R T Bl ey 11 SR GG %

Correct Answer :-

« only conclusion I follows / A T5HY I STHRUT Xl §

29) The Dachigam Wildlife Sanctuary is in / SRITH g=sia JHIRYY A7 350 § fRUT &:
1. Jammu & Kashmir / 77 Td HRAR

2. Himachal Pradesh / %IIT'?-WT W

3. Karnataka /

(11)



4. ASSam / ViIXiH

Correct Answer :-

¢ Jammu & Kashmir / GFILQH HIHR

30) If MOTHER is coded LNSGDQ, then how is GRANDSON coded? / gfe MOTHER Gal
LNSGDQ S Hif&d f5aT ST 8, df GRANDSON S} 68 HHSd fhar SIrvm?

1. FOBMCRNM
2. FOZMCRNM
3. FQZMCTNP

4, FQZMCRNP

Correct Answer :-

« FOZMCRNM

31) What major status did India gain on May 18, 19742 / 18 'Flg, 1974 Bt URT ﬁwm aTrl'f fear
Yr?

1. Nuclear Power / UXHIT] e
2. Republic / IO
3. Highest populated country / e SfTaTe) ara S8

4. Sovereign State / HTIT JUF I

Correct Answer :-

« Nuclear Power / UXHIU] RIIES]

32) Complete the series choosing the missing number: / Ul AT AP FEal E| T HIfog:
11,12,17,18,23,24,

1.12

2.29

3.35

4. 30

Correct Answer :-

« 29
(12)



33) Complete the series choosing the missing number: / W Jq@I YABY m Ca| T ?ﬁi%rq:
6,13,28,59,

1. 122

2. 118

3. 120

4.121

Correct Answer :-

34) The series given below contains a sequence of numbers. Identify the incorrect combination: / :ﬂ% a "'I_st
S H, HRTSHl o1 U B IR & | Tad At Ugdn=g:

0, 8, 24, 60, 120, 210

1.24

2.0

3.8

4. 120

Correct Answer :-

35) The series given below contains a sequence of numbers. Identify the incorrect combination: / Sk T:ﬁ Tlg
Sl H, WA BT TP HH U & | 7Tad JaIe- dgan-e:

1,8,27,64,125,215

1.215

2.1

3.125

4. 64

Correct Answer :-



50) VIO AMONE UIE IOHOWINE 1S 4 MAESLIV U1 SAFOWS / ITTAISHIHST #1 €1 911 ¥IXIG % OXTIG ©
1. Nikhil Ghosh / Ffg@ a9

2. Amjad Ali Khan / 3[HSIG 3fcil W@

3. Alla Rakha Khan / 3cddl 9] G

4. Hari Prasad Chaurasia / 8% TTe TR

Correct Answer :-

« Amjad Ali Khan / 3fHSIg 3fcil @

37) Dr. Raja Ramanna has distinguished himself in the field of/ﬁﬁwmﬁmﬁ

3 &7 # ufafya fear 8:

1. Horticulture / ST

2. Agriculture / ?ﬁf

3. Writing / SECR]

4. Nuclear science / Wﬁﬁﬁ

Correct Answer :-

« Nuclear science/tl?'lirrﬁ[ail:i

38) Complete the series choosing the missing number: / YU & JAB g@dAl G| T PIfTT:
400,441,484,

1.535

2. 530

3. 529

4. 527

Correct Answer :-

» 529

39) Select the option that is true about the Statements and Conclusions given:
Statements:

No coats are shoes

Some sandals are not shoes

Conclusions:

(14)



L. DUITIE SANUAIS dre codus
IIL. All coats are sandals

| 39 faweu &1 999 Fiforg i T T Fu=i iR frepet & o 8 w8l &:
BY:

IS Ble d TE §

PO Hsd 9 el 8

e

1. PO AsaADIC e

II. 94 Pl dsa §

1. both conclusions I and II follows / F5BY T 3R 11 GIFT SITERUN R &

2. only conclusion IT follows / ad fASHY 1T 3FTRUT BT §

3. only conclusion I follows / Had fSHY 1 STTRUI HRT §

4. neither conclusion I nor conclusion IT follows / 7 &1 Fept 1 3R 7 &1 sl 11 STTIRT] TRA &

Correct Answer :-

« neither conclusion I nor conclusion II follows / - éjf ﬁ'ﬁ@b_‘sfl 33? « é)[ ﬁEb_Ef 1 38R0 B %

40) The jumbled letters of words are given below. Each letter has been numbered. Choose the
option which gives the correct order of the letters as indicated by the / W% SR &R CiE]
fRu T & | U 3IeR P HEAThd fhaT T 2 | Wee & R & forg 39 fawey &1 ag= Hifvme st
TET3 gIRT 3M&RY & Wl HH Bl ear gl

AEHRGN
123456
1.6,1,5,3,4,2
2.5,3,1,4,2,6
3.4,1,5,3,2,6
4.3,1,6,5,2,4
Correct Answer :-
« 3,1,6,5,2,4

Topic:- Mental Ability and Mental Aptitude

1)

(15)



111
The sides of a triangle arein the ratio 5 St 3 ; andits perimeteris155 cm. What is the difference
2 3 5
-1 11 s
between the smallest and the largest sides? / THeRIOT T =Tl 5 22 HAUd F § AR 36
23 3 ~

ORATT 155 AT &1 ofddd R Agcad =B & o 37 Thdar &

1. 60 cm / 60 THT
2. 45 cm / 45 THT
3. 100 cm / 100 THT

4,90 cm /90 IHI

Correct Answer :-

. 45cm /45 9

vcl |::;} \‘
@O0
ol I

e
o9
BT ]

(16)



Correct Answer :-

vC:l i) s.
" TeY |
ol ¥
3)

Aclerk works4 — hrin the morning and 23 hr in the afternoon. For how many hours does she work

eachday?!%ﬁﬁfﬁmﬁél%ﬂ? W@Wﬁziﬂ?mmﬁl ufd g1 g5 focler

4) If the following two squares shown below overlap, which cne of the following options is formed? / Ife;
fFa & a9 wfaenfa g & o & & &l a1 v fade aotar &

Qo B
B R s i sl
dl"—lu‘.[h ‘ e‘flf‘ u“\"
T
—3;& Caias

(17)



Correct Answer :-

—
2_ =

HEEIR

— & -

(18)



Correct Answer :-

6) The average age of class A with 20 students is 16. The average age of Class B with 20 students is 15
and the average age of Class C with 20 students is 17. Find the average age of class A, B and C combined.

/ 20 BTAT & ATY HET A BT SN TG 16 T 1 20 BT & TY H&T B DI 3T MY 15 7 3N 20 B &
AT FHET C Pt 3T 3T 17 31 FET A, B 3N C B Tgaa A 3 3 1 B |

1. 15 yrs/lSG'Ef
2. 16yrs/165|'5f
3. 13 yrs/13a'5f

4. 14yrs /149

Correct Answer :-
e 16yrs/ 16 Gl

7) Three friends A, B and C start running around a circular stadium and complete a single round in 24,
36 and 20 seconds, respectively. After how many minutes will they meet again at the starting point? i

S A, B 3R C T MATHR WRISTW & RIUT S5 & 3R TP TR THR HHRT: 24, 36 3T 20
TPs | Hd ¢ | fvae fie a1g 9t et fig w e

1. 12 minutes / 12 e
2. 5 minutes /5 fire
3. 3 minutes / 3 T
4.6 minutes/GﬁI:l?f

Correct Answer :-

(19)



e b minutes/ o IH"IC

8) Radha and Sangeeta together can complete a piece of work in 10 days. Sangeeta and Poonam can
complete the same work in 12 days, while Radha and Poonam can complete it together in 15 days. In how
many days can Poonam working alone complete the task? / IT€IT 3R e E'-'Fﬁ Udh Wﬂ@ﬂ"lﬁaﬁ 10
ot A o2 el € 1 Wiftar iR w It &l &Y 12 T # quf &% ol €, Stafe e ofik g0
S T 1Y 39 15 3 W quf % It 81 70 ol @1 i fpam el o guf e w22

1. 64 days / 64 T
2.37 days / 37 faa
3. 40 days / 40 f&

4. 56 days / 56 faq

Correct Answer :-
« 40 days /40 faT

9) Dilip picks 19 cards from a pack of well-shuffled cards of which ten are red and nine are black. If there
are twice as many hearts as clubs; and thrice as many diamonds as clubs; find the number of spades in the

set /AT A S REA BRI S IF A 19T g, PRE A g aATa & IR M FTA g1 Al U &
gﬁ:ﬁﬁ%uﬁﬁaﬂﬁ%’,&m&%ﬁﬁ@%uﬁﬁﬁqw%aﬁzﬂm%uﬁaﬁmm
|

1.6
2.7
3.5

4.4

Correct Answer :-

e 7

10) Find the value of (12 x 12) +(2x 12 x 15) + (15 x 15) / (12 x 12) +(2 x 12 x 15) + (15 x 15) T HIH JATd

BT
1. 529
2. 629
3. 429

4.729

Correct Answer :-
(20)



e /49

11) Inagroup of 15 workers, 5 are good at both plumping and wood work, 3 workers are good only at
woodwork, and 3 are not good at both. How many of them are good at plumping? / 15 ﬂ'&ﬁﬁ 33 qdHe 'Ef 5
gftrep TR SR 16 & SIS H 3 §, 3 4THP Fad P16 & &1 § 3 & 307 3 3 B
H oy 11 81 37 O Feitr) & fopet o &2

1.5
2.9
3.7

4, 4

Correct Answer :-

12) The number of times 646 is divided by 81 so that the remainder is less than 81 is: / 646 &l fpal IR

81 & faurfora foma mar § o 7 Jvwad s1 A FA
1.6
2.7
3.9

4.8

Correct Answer :-

« 7

13) In 10 years, A will be twice as old as B was 10 years ago. If A is now 9 years older than B, the present

age of Bis: / 10 91 ®, A 10 I8 Ud 9Tdl B B1 3TY T NAT 81 wTew | afe it A, e H o ad geTR Y B
P IIH 3T B

1.37
2.41
3.35

4. 39

Correct Answer :-



14) If each side of a square increases by 6 times, then the area of the square increases by: /qﬁ'wa‘f 3|

TAP YT 6 AT 9P 9¢ Sl & Al T PT&TFA _ dP dedl o
1. 12 times / 12 7T

2. 36 times / 36 T[T

3. 9 times / 9 T

4. 30 times / 30 V[T

Correct Answer :-
e 36times/ 36 [l

15) The population of a city increases by 4 % every year. If the population this year is 6,24,000; then the
population of the previous year was ./ wwﬁm Ude ay 4 % @aa?ﬁ%l TI'% E5 |
T g SIIRIRST 6,24,000 § O FUSA 96 B SR Jigl

1. 5,99,040
2. 6,20,000
3. 5,80,000

4. 60,000

Correct Answer :-
e 5,99,040

16) Seeta and Geeta are twins. The average age of their family, which consists of a mother and a father, is
23 years. If one twin is excluded, then the average age of the remaining three members, 4 months hence,
will be 27 years. What is the age of father, if he is four years older to the mother? / iar 37 far @?ﬁﬂ %'I
I URaR ®1 3id oMy 23 99 & o ad ver Arar iR v e wnfire §1 afe ve Jsai &t srem
$ 3T Se i 4 TEN uyTa A G Towl B i oy 27 a9 gt afe et arar A AR af wS €
o foran 6t sy T B2

1. 44 years / 44 g
2. 36 years / 36 LY
3.40 years / 40 G

4.32vyears /32 a’ﬁf

Correct Answer :-

e 36vyears/36 EITST



47) 1ap ATIIS a Tank In SIX hours wniie 1ap b 1S tne same tank In Tour nours. OtTN tne taps togetner will il

the tank in ./ T B BT WA T T A P BT U WA ¢ SIaih T B B SUI cht B WA H
R G T &1 G I Sbl Bl TH A1y # WX

1. 2 hrs 40 min / 2 §¢ 40 fiFE

2.2 hrs 24 min / 2 ¥¢ 24 TiFE

3.3hrs/34¢

4.5hrs/5Hc

Correct Answer :-

e 2hrs 24 min /2 9¢ 24 fiFe

18) Suraj purchased a telephone for Rs. 1,760 and sold it to Sibin at a discount of 25 %. How much loss did

Suraj have on the sale?/'\‘fﬁfﬁ 1,760@%@%@%@?3@%3% 25 %'éﬁ?}?q"\’
o7 far| fasra R IRet &t fra-it g1fa g82

1. Rs. 440 / 440 3UY
2. Rs. 360 / 360 UY
3. Rs. 540 / 540 SUY

4. Rs. 600 / 600 ST

Correct Answer :-

« Rs. 440 / 440 3TY

19) A car travels its first 100 km at 60 kmph and the next 100 km at 50 kmph. What will be the approx

average speed of 200 km?/Wquﬁﬁ 100 Tt UR 60 fop+it Ufer TeT 3R 3ATS 100 fHt WR 50
ot wfer deT @ et 81 200 B ' TTUT Sivra e = gifl?

1. 55 kmph / 55 TopH1 Ul deT
2. 56 kmph / 56 TH! Uid el
3. 45 kmph / 45 &1 Ufd ger
4, 50 kmph / 50 ToHT Ufd ger

Correct Answer :-

« 55 kmph / 55 fooHT Ufd det

20) The present ages of three persons are in the ratio of 2 : 3 : 5. Ten years ago, the sum of their ages was
30. Find their present ages. / 1< SafRTa] B TAHM MY 2: 3 : 5 F UG A 81 ST I9 Yd D1 3Mg

(23)



D@1 I YW SU Yl SR GCHIT Oy PRI AUA P
1. 15, 30, 45

2.12,18,30

3.6,9,15

4.3,6,9

Correct Answer :-

21) A man had two cell phones. He sold one for Rs. 4,000 at the loss of 20%. In order to make profit of 20%
on another cell phone of the same kind, what should be the selling price of that phone? / Th i & Uty

31 A B B | ST TP B 20% P BT & 1Y 4000 U4 H 97 11 SN PR F g AT BH R
20% TTH UM & fore 39 wiF &1 faska gea fa= g anfge?

1. Rs. 6,000 / 6,000 ST
2. Rs. 8,000 / 8,000 ST
3. Rs. 10,000 / 10,000 ST

4. Rs. 5,000 / 5,000 ST

Correct Answer :-

« Rs. 6,000/ 6,000 ST

22) By selling a pre-owned scooter for Rs. 2970, a man loses 10 %. To get a profit of 20 %, at what rate

should he sell his scooter?/ﬁﬁ@ﬁmﬁwaﬁ 2970 ¥UA T 9UHY TP TG DI 10% D1 gI
Bl 81 20% TTH UTW B3 & forT I 3U+ Ipe o1 by o3 W I=AT1 A1ee?

1. Rs. 3960
2. Rs. 3300
3. Rs. 3900

4. Rs. 3600

Correct Answer :-

¢ Rs. 3960

23) A can do a work in 6 days and B can do the same in 4 days. Both of them finish the work together and

get Rs. 300. What is the share ofA?/AWWﬁGﬁﬁWW%Gﬁ?BWWﬁ4ﬁﬁW
TPhdl g1 Sl P DI Teh HIY THIW Hd & 3R 300 YT YT HId &1 A BT gwan fpan g2

(24)



1. KS. 15U/ 15U ¥YY4
2. Rs. 180 / 180 ¥UA
3. Rs. 200 / 200 ST

4. Rs. 120/ 120 ST

Correct Answer :-

e Rs.120/120 30

24) If x% of x is 25, then 'x' is equal to: / AfG x BT x%, 258, W% P RIEI 6
1. 50

2. 40

3. 100

4. 60

Correct Answer :-

25) Rashmi is twice as old as Resham was two years ago. If the difference of their ages be two years, then

what is the present age of Rashmi?/mﬁm?ﬁﬁ@m zﬂ,ﬁwﬁaﬁmﬁ%l
Tfe ST MY BT 3iaR &1 ay g Y I B g AT iy fpa-it 82

1. 10years /10 G
2. 8 years/ 835‘:
3.9vyears/9 g

4, 6years/6?ﬂ3f

Correct Answer :-

. 6years/6<‘ﬂf

26) In a school, there are three sports teams. There are 23 players in the basketball team; 20 players in the
hockey team; 25 players in the football team. Among them, if 16 play hockey and basketball; 17 play hockey
and football; 15 play football and basketball; and 10 play all the three games, then how many players are

there in all? / T f3eTed # @a & 19 g0 € | TRPeaid ¢ A 23 fAaE) €, 20 RS giPt A A &,
25 TQTS) peaia g W §1 399 9 Ufe 16 B! R TP edid Weld §; 17 Sl 3R Peaid Wad o;
15 Peaid 3T TRPedid Wad &; 3T 10 Ut 9 Ta @ad & af pa fvaw faarsi 82
1. 50

(25)



4.4V

3.30

4. None of the above / SRIGdH I Gr;lsr:l_{vp[

Correct Answer :-

27) Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ 774 &0 T IR el § 9§ = el TR v & Sie 9 i 91 T 8 o7

Helene
Leimkugelstr. 13,

SchoPpenstedt, 38170

(i) Helene
Leimkugelstr. 13,

SchoPpenstedt, 38170

(ii) Helene
Leimkugelstr. 13,

SchoPpenstedt, 38170

(iii) Helene
Leimkugelstr. 13,

SchoPpenstedt, 38170

(iv) Helene
Leimkugelstr. 13,
SchoPpenstedt, 33170
1.1v

2.1

(26)



J. 11
4, i1l
Correct Answer :-

o v

28) When asked about age, a person replied that my age is a LCM of 2, 3, 3, 6, 12, and 36.
Find the person’s age. / 3T & fawg ¥ U@ 911 R Us afad = S foan fo a9 8y 2, 3, 3, 6, 12,
3R 36 FT TYTH JHTITH 3 | 3T TR B 3TY A B

1.72
2.54
3.36

4. 18

Correct Answer :-

29) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /T-ﬁ%a"lg WFIT'E[, 3R GﬁTﬂ@TﬁﬁWWWﬁ%ﬁ%I Ted HYIoIH Ugan—e:
i.tuioe2035eoiut

ii.tuioe2035coiut

jii.tuioe2033eoiut

iv.tuioe2035eoiut

4. iii

Correct Answer :-

30) Find the average. / 3a R

83, 85, 87, 89,91 & 93

(27)



1.5/
2. 88
3. 86
4. 89

Correct Answer :-

« 88

Topic:- Science and Simple Arithmetic

1)
In the given figure, 'O is the centre of a circle and reflex #AOB = 2209, then
¢ACB=___. [ RBu 7w &7 #, '0'gcd FT deg ¢ IR Tldad! 2AOB = 2200 g,

ar zACB=_ .

1. 85°
2. 70°
3.75°
4. 110°

Correct Answer :-

(28)



AB ||CD and EF is the transversal. Find 'x'. [ AB ||CD 3R EF ol @ g1 x &
A ATd iU

E
dx+ 10
A \'—"\ i -~ B
w+ 20
C = Y‘ = D
E
1.45°
2. 50°
3.75°
4, 60°

Correct Answer :-

e 50°

3) 23 23, - 23, 23 23, - 23..
Find x, if () “x(2)° =(0%L / AR (D) *x()7=(0% !, & = & A A

IS |
1.-1
2.-2
3.2

4.1

Correct Answer :-

4)

z[3375 16 , =[3375 16
Evaluate:_\ 51; x = f 4 x?ﬂ gel ST

5 3 512

1.2

2.6
(29)



3.3

4.8

Correct Answer :-

« 6

5) Each stomatal poreis guarded by: / 'icg 3¢t fosg A *» WTF&IH E-HT %:
1. Subsidiary cells / T PHifRrepTSi
2. Epidermal cells / ST IR

3. Trichomes / ?\E@I{
4. Guard cells / Y& DIRABISN

Correct Answer :-

« Guard cells / J&® HIRIBTN

6) Intercellular connections in plantcellsarecalled__ . / mﬁ&m@ﬁ ﬁ GI?RTW
A ____ pEaid gl

1. microfibrils / & dh

2. plasmodesmata / SHI%od dg

3. middle lamella / ¥ UEferehT

4. tonoplast / THRE

Correct Answer :-

« plasmodesmata / SII%e T

7) The perimeter of a trapezium is 56 cm and its non-parallel sides are equal to 13 cm
each and its altitude is 12 cm. Find the area of the trapezium. / THGT TgYs &1 URHATY 56

T, § SR ST SRIHIAR YolTY 13 Y. & RTaR g 3R 3P Hars 12 4L, § | I9ad ag sl &1 eawa
T Bifer

1. 200 cm? /200 I

2. 180 cm? / 180 T2

3. 150 cm? /150 92

4.210 cm? /210 T2
(30)



Correct Answer :-

« 180 cm? /180 T2

8) The perimeter of a parallelogram is 12 cm. If one of its sides is 3.6 cm, find the other. /

TP HHIOR IgYS FTURATY 12 G 1 Al SHPT TS YT 3.6 T &, 1 GO YOIl 1 B
1.1.2 cm/ 1.2 G,
2. 1.6 cm/ 1.6 THI.
3.2.4 cm /2.4 AL,

4,28 cm/2.8 R

Correct Answer :-

e 2.4cm/2.4 9

9) The sum of two numbers is 60 and if one exceeds the other by 14, then the larger

number is: / § TSI BT AT 60 7 SR IS Teh FWI go & 14 931 3, A ST F&m e g
1.42
2. 29
3. 34

4. 37

Correct Answer :-

10) The compound interest on Rs. 5000 at 8% per annum for a certain period of time is

Rs. 832. Find the time in years. / 5000 T3 Y Y-RTIRT UR 8% ATTUS Tshgies ST & R F-ad I0qd
T ST 832 TUY € | 3G P TUHT BT

1% vears / 1% aq
1. - -

2
2.

ka |

vears [ 2% ay

3.3 years/3 CL

4.2 yearslza'ﬁf

(31)



Correct Answer :-

. 2years/2a'5f

11) The volume of a cylinder is 924 cm? and its height is 6 cm, then the LSA of the

cylinder is: / TP 9@ &1 3G 924 TP § 3R sUD TS 6 A, €, d 9@+ &1 ey (ursf g
?H?l’)ﬁﬂiﬁ"ﬂ

1. 412 cm? / 412 T2
2. 346 cm? / 346 I
3. 264 cm? /264 S2
4. 468 cm? / 463 JH?

Correct Answer :-

o 264 cm? /264 T2

12) By selling a chair for Rs. 630, a shopkeeper gains 5%. How much percentage would

he gain or lose by selling it for Rs. 612? / T% GHGR TH TI DI 630 YT H 99 B 5% BT ATH
Tt 3l 8 | TS gPHGR 50 Bl 1 612 YT A 9 4 I fpaq wia=ra ary a1 g1+ grfie

1. 3% gain /3% <Y
2. 2% loss / 2% BT+
3. 3% loss / 3% B8IH

4. 2% gain / 2% <Y

Correct Answer :-
o 2% gain/ 2% QY

13) Find the measure of the largest angle of a parallelogram, if one angle is 30° more
than twice the smallest one. / T&% JHTGR IgHUT & T TS B0 HI AU F1d HIT, afe Tad 81
PIT, TG DI BV &b R & 30° TST 7L

1. 110°
2. 130°

3. 100°

(32)



4. 14ZU°

Correct Answer :-

o 130°

14) Three jars were marked A, B, C. Some snails were introduced in to A, some algae in to B and some
snails and algae into C. Which of the above 3 stay longer? ik ﬁl@ & as‘r 3| A,B,C -ITH fear T A
5o U, B A $© AaTd 9UT ¢ § $© U 9 $© ara uiay e 1w Swfem S A S
SF TII P g2

1.Jar B/YSIB
2. Jar C /TSI C
3. All will perish / T} fA®RIT g1 SIEH

4. Jar A | USTA

Correct Answer :-

e JarC/YSIC

15) Identify the biotic factors that damage food materials during storage. / 39 ST PRSI B Ugdld
Y S WTe A P HSRUT F GRT & ugamd 71

1. Rodents, birds, animals only / ks W, U&'ﬁ, Uy

2. Enzymes present in the food materials only / R @ Il & Sufufa UwsllgH

3. All the above /G'Cl?i?ﬁ it

4. Insects, worms, bacteria, yeast, moulds only / WW, ?ﬁ[, Gﬁ?:ITUl, Eﬂﬂ?, tﬁQQ?{

Correct Answer :-

« All the above / G'Cl?i?ﬁ it

16) Which of the following mixtures can be separated into its components using chromatography? /

Fuiafae! BT IuahT #ed g¢ Fufiiad fryol & @ $14 oM gew! § gy fovar i g 22
1. Spirit and water / foufve qurs@

2. Milk and sugar / QY TAT TIT

3. Sea water / ﬂﬂ?ﬁ it

4. Blood sample containing medicines / 3T AfRIfeI Yard AT

Correct Answer :-

- (33)



* B1004a sample containing mMedaiCines / DAYl AL XY 1+

17) The unit of current is: / HTRT BT Eﬂﬂg = a’rﬁ %:
1. Ampere / TR

2. Coulomb / BT
3. Volt / dlee

4, Watt / alc

Correct Answer :-

« Ampere / TR

18) When electrodes are placed in water and electric current is passed through it, oxygen bubbles are

formed near the /msﬁa@gﬁuﬁﬁwm%amwﬁﬁ@amw%aa&m%,
o SfTRiteH & gagad ¥ iy fAffa ga €1

1. both the terminals / fﬁ:ﬁ R}

2. positive terminal / TP RR
3. edges / T RS
4. negative terminal / BUITHD 1B

Correct Answer :-

 positive terminal / SIHD R

19) On the fifteenth day of the month, the moon is not visible. This day is known as: /'Fnga? Wﬁ:ﬂ
TSAT 3ERA gial 21 39 fed Y i S u df AT s &:

1. Full moon day/tﬂﬁ'q[m (’%Tfé’)
2. New moon day / ST fdag (erff@)

3. Half moon day / 3 9% feaq (ETCI'?HH@)
4. Crescent moon day / JfAE 9% faaw (W HA @)

Correct Answer :-

« New moon day / 3Maw feay (7\’1717‘[@)

20) A body is said to be in state of rest if it: / TP [*IHTd fayraTawRIT § FHgangm, afe Is:

(34)



1. Lnange 1ts posiiion with ime / XiH4 92 X< D147l IX9ICG SIGUICn g 1

2. Moves with equal speed to another moving body / @3\’ TifarRite e & a1y qeE TIfd ¥ =darn %I
3. Moves very slowly with time / THT % I1Y $R-R Iaar 31
4. Does not change its position with time / JHJ & 1y g1 fufa o uRad= :I—EETWT%I

Correct Answer :-

» Does not change its position with time / I & Iy 3o Fufa & uRadq :1_69[ hdl %I

21) Xylem and phloem are____ ./ m@m_%l
1. supporting tissues / gD FHdd

2. growing tissues / CEERCRED

3. protecting tissues / e SHdad

4. conducting tissues / I S

Correct Answer :-

« conducting tissues / el Hdd

22) Kaleidoscope is based on the concept of: /WW SR TR ST BT 8:
1. Reflection / TRTA<H

2. Multiple reflection / aﬁﬁ‘ﬁ TRIGCH

3. Refraction / 3Tdd

4. Dispersion/ PEALE]

Correct Answer :-

» Multiple reflection / aﬁﬁ‘lﬁ BRERR]

23) The Wild life Protection Act was enacted in the year ./ T Sita- ERer ifferaw ad
# arferfrafira far war

1. 1962
2.1972
3. 1974

4. 1968
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Correct Answer :-

24) Compounds which destroy or arrest the growth of pathogenic bacteria are called ./ Tiftre

St RIS SETY] & fIhTd P 9 91 T P4 o, Fedd gl
1. carbohydrates / W‘cﬁ%’@%‘c’

2. phospholipids / BIRpBIAS

3. antibiotics / Ffcolfdd

4, vaccine / Il

Correct Answer :-

« antibiotics / Ufdeifdd

25) Name the raw material that gives energy for animal cells? / 3 e °Td BT A" qddisy k| tl"ﬂ\"rﬁ
BT DIRABTSA BT SHelf UG Bl 82

1. Food / Yol
2. CO,
3. Water /oI

4. Sunlight / g4 1 T

Correct Answer :-

e Food / hice

26) Which of the following is a factor of 12x2 - 10x +2? / =T & ¥ FT 12x2 - 10x +2 TOFES B2
1.(3x+1)

2.(6x+1)

3. (6x-2)

4. (3x - 4)

Correct Answer :-



11e mean 01 3> nuImppers 15 14. 11 one numper 1y exciuaceda, Uien ue medin 01 uie remaining numpers pecoines

14.5. Find the excluded number. / 5 TSI BT HIH 14 B 1 TP HBHT B HdTa 34 W Y S=AT3MT BT HIEH
14.5 2| FFIopTell 1S =T J1a Sifeg|

1. 15
2.10
3.12

4. 18

Correct Answer :-

28) Find the remainder when (3a% + 5a + 7) is divided by (3a-1)/ 322+ 52 +7) P Ba- 1) T U A W

YU [T PITC
1.5
2.3
3.9

4.8

Correct Answer :-

29) If 2x = V70.56 \’.46’2‘4, then x = -/ gfg 2x = V7056 {45,24, dWAx =

1. 0.6
2.1.38
3.1.6

4.0.8

Correct Answer :-

« 0.8

30) Cell in the human body which is amoeboid in shape is: / Wé‘gﬁa‘sﬁﬁmﬁﬁ 3T &
TR B &:

1. Nerve cell / RIECAEAIRER]
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Z. R€d DIo0Aa cell / CHKT XYt YK

3. White blood cell / &d T HIRABT
4, Muscle cell / U= HIepT

Correct Answer :-

« White blood cell / Jd Iad BITRABT

(38)



